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Lt Col Pension Based
On PB-4 (w rounded
increments)

OROP Lt Col (S and
TS)

OROP Col(TS)

OROP Col(SG)
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*There is no difference between OROP of Lt 
Col (Select and TS) and OROP of Col (TS) for 
QS between 20 and 23 years.

*There is no difference between OROP of 
Col(TS) and OROP of Col (SG) for QS higher
than 25 years.

*Basis of OROP of Col(TS) for QS < 26 years is 
not clear as Col(TS) is presently applicable 
only from QS of 26 years and more.

Half yearly
interval PB4 
based 
pensions are 
equated to 
pension at 
next 
increment 
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